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1. EA

Chen-E 51

Lm

H

fi: compact XFZER M O S: XEES

<~ SzY =Y (Cl?,yES)



2. FAIEFREBOIHRES

EIHE M: compact ¥ Hermite Xt FF2EfH

g€ Ag(M) IZx LT F(g, M) : BfEIH) < ¢ : IEB|TT

CDEE, F(g, M) : RIEERSE



M: compact #Ei# Hermite xf#5ZEfE]
Io(M) = Ao(M)

AR, ¥ EES:

M = G2(R?™), G (C2™) (m > 2) D & &,

I(M)/IQ(M):ZQ XZQ, A(M)/Ao(M):ZQ
M BNEDOMDIZE,

I(M)/Io(M) = Z2, A(M) = Ao(M)



M = Go(R2Zm+2) () & =,
AM)=002m+2) D Ag(M) = SO(2m + 2)

\

g€ AM) — Ag(M) IZR LT R2m+2 @) 3 EHEREE
{e1,e2, -+ ,eamt2} s.t. g DRIFITHIIE

[ R(61) \
g = R(0m)
1
\ 1)
CCT, RO FIRRZzHRILETSHA 0 DEER
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— JH

iE I
M = G2(R2m12) (m > 2),g € A(M) — Aog(M) £T 5.
F(g, M) hBEEREY < R(01),--- , R(0m) NEWZELS.
ZDEE, F(g, M) IIXHEEE T,

#F(g, M) =2m <2m +2 = #2M

sEBA D LR
{£e1 Nea2,tesz Neq, - ,Lteam—_1 ANeam} C F(g, M)
EDAZIZHENT “=7 < R(01), -, R(0y) NEWNZRES

& F(g, M) HYBEEY



3. S2ND=Z72OKHDEXR

1T + 12
—y + 12 —1I

—R® = {(2,y,2) | z,y, 2 € R}

J =(1/2,0,0), M = S? = Ad(SU(2))J

7 :s5u(2) = R? — su(2) = R?;

X =(z,y,2) = —X = (z,—y, 2)

F(r)=L = {(%COSQ,O,%SiHQ)} =St>J



I, :G=SUQ2) - G;gr— 197 1 =3
F(I;) = SO(2)
su(2) =so(2) dp (EFEEDEE)
a=RJ, a=4J, (a,J)=1
R={tal=A;, TAILEW(R)={t1}
HecalzxLT
(a, HY € nZ D & &, S = Ad(exp H)S?,
(o, HY ¢ 77 D & &,
St N Ad(exp H)S! = {+J} = W(R)J



4. )b— FRIZHRET 5%

R: REEZHEDIANY MILZER (a,(, ) OBERIIL—FR
Jea— {0} RIZHHELT- BT

SHEBEM A RIZHLT (A, J) =0,+1

W(R): R M7 A JLE
S8 W(R)J E-AZHEZM




5. ZDONERDODREX

compact 2B Hermite xFRZER M
EH L=F(r)CM=G-JCgyg

I :G—=G;g— g1 (FAB)
(G,F(I+)) ~g=1@®p (FEIFR)
MREHE a Cp~ FRIL—FRRCa

Heca: EBIZt & (\,H) € nZ (A € R)
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5.1 SRLGZODEEDORXX

7 IE

(M, J) : compact #EE#) Hermite 1 #5ZEf&]

M>DL: EH
LNalL : Bff#N < H : IEAIT (a =exp H, H € a)
DEE,

LNnaL=Mna=W(R)J =L OREES]
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5.2 BRITHEVLWZDODERDORX
—ONEW Li=F(r)CM=G-J
T1To = ToT1 ETED.

compact }¥=x (G, F(Ir,), F(Iry))

~g=101®p1 =IxPp2
= (l1Nlk2) @ (p1Np2) @ (1 Np2) D (2 Np1)

B K a=a;Nas C p1 ﬂpgwﬁwzﬁ (E,E,W)

H € a: IEA|FT <:>{ (N H) T (A € X),

(a, H) Z 5 + 7l (e W)
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I

(M, J) : compact #EE#) Hermite X #i2ZEfH
M D Li,Lo : ¥ (L1 # L2)
LiNalLy : BERREY < H : IEBIT
(a =expH, H € a)
CDEE,

LiNals =W(X)J=W(R1)JNa=W(R2)JNa
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(G, F(I,)) NEREWICHMT 5 &,
> =Ri, LiNaly = W(X)J = W(R1)J.

CDEHZmI=3 (M, L1, L2)
1

(1) (Gn(C?*™),U(n), Gn(R?™)). D& E,
#(Ll M CLLQ) = 2™

(2) (Sp(2m)/U(2m), Sp(m),U(2m)/O(2m)).
D& =, #(Ll M aLg) — 2™,

(3) (SO(4m)/U(2m),U(2m)/Sp(m),SO(2m)).
—DEE, #(L1 NalLg) =2™.
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(4)

(5)

(6)

(E7/T - FEe, T - Eg/Fu,(SU(8)/Sp(4))/Z2).
CDEZE, #(L1Nalg) =8.

(Ee/T - Spin(10), F4/Spin(9), G2 (H*)/Z2).
—DEZE, #(Ll M aLQ) = 3.

(G2 ((CQ(m—I—q) )7 Gq (Hm—l—q)’ qu (R2<m+q) ))
q

m —+ q
N OFS-3 #(Ll ﬁCLLQ) = . :
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m=aBDEESX =R, LiNalys =W(X)J =W(Ry)J

Bl (7)

(M, L1, LQ) — (Q’T’—I—S—I—t—l(C)y S’r—l,s—l—t—l7 Sr—l—s—l,t—l)
(s>0,r<t)IZDWT LiNals =W(X)J =W(R1)J
#(Ll M CLLQ) = 2r.

S#Rl,RQ EIRBEE

il (8) (M, L1, L2) = (Gom (C*™), G (H*™),U(2m))
DEE, LiNals =W(X)J, #(L1 Naly) =2™

2m
#a(L1) = ( ) , #a(Lo) = 2°™

~

> =Cm, Ri1=A2m—-1, Ro=0Cony
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6. SERDRRE

O BHOREEEELET. ~ X BEHEIFRS AL

O —BILSINT-BEREZHRARNDZDOERDORX

(a1, R1), (a2, R2) & (X, %, W) DR

(RKE-BA0O) a; + az: A[#E

v ZDDERKF EM=XOMEER (Klein DFERZ=®ED)

O Hermann fEH & ER DR XD EEMNGEZ
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